


2. z=3sin(t+¢)

, COS¢p= \/7, tangp =— —=

o sing=— 3 =
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3. x:2¢5sin(3t+¢):2\/§sin(3t+%w)
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o sing=——=, cos¢p=—=
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4. z= \/gsin(ﬂ't—f-qﬁ)
E}simé:?/—é, COS¢:—%, tanqbié

5. x = 3cos 7—t
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6. 2 = —sin(——t+ @
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= sin@z—l, cosdi:ﬁ, taHQZ—L
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7. ngsinlélt
8. ;v=eflot(2cos4\/gt+%sin4\/gt)
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9. x;, = ¢, cos2t+c,sin2t
Ty =— ¢ 8in2¢+ ¢y c082¢
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10. z, =e? (clcos#tJrc?sin \/27 t)
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CHAPTER 04 27 M3 0|2wy4lol &8
1 og—— 13 a0 3=2V2 aoyay 3H2V2asva

b2 1-v2 7 1+42

_Ja 5 7
Ty = +026(1 V)i +Cge(1+ (RS Eemolﬁl'.

12. z= chet +2¢, (t— 1)e! — cse x
y=ce' +eyte’ +cze” 2

z= (01 — 202)et + ¢ (t—1)e' + cse” 2

13. z= Cle‘/gt + Che Vit _ Cscos V3t — C,sin V3t — iet

3 - V3 = . — 1
y= C’le‘/?’t-i-CQe ¢3t+03cos\/3t+0451n\/3t +Zet

14. ¢’ —¢' —q¢ =0
& —q —¢ =0
10(g +q,/+¢')+5¢" =6
10q;" +40q, +40q;," + 10g, = 6

10q;" + 55¢q," + 40¢; + %q4 =6

15, 2, (t) - 4ol ARt to|A] B3 Ao] Fopgle MHeo] &
2, (t) : O] AIZF to]lA] Ei3 Boj| Jolgl AEko] of

1 3
_ 3 Tl 51
T = FcCe cye

2

1

I3

—t
— 10
Ty = cC€ +cye

16. 2, (¢) : 4] ARt tollA] B3 A0 Folle
zo(t) + O] AT tof| A B3 Bojl ool
(D+0.1)z, — 1.5z, = 1.5

3
20+t

0.1z, — (D+ Jx, =3

17. 86.4¢~ %1% = 9.9641 (kg)



